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#include <iostream>
using namespace std;

void main()
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const int MAX _DIGITS_IN_INT = 10;
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void decimalLengths (int nums[], int size, int counts(]):
L0270 8%w) size 19T NRY OMATA DAY BMBOR YW nums TWH VYR NYapk MEpNDn
MAX_DIGITS_IN_INT+1 :X¥1°000 1970 counts AOM T NHapn Mpnon 19 md
JTPW U5 NR PINY AMAR YRS AT TN
nums =1 D™BOMN oM NR 9 counts [1] -W > counts TWHT NR PN 1EPILN
YWY MDD 4 a3 onw
MR 71950 %22 BAW nums -2 B*POAN 9DOM MR 9*° counts [ 1] Mm%
N1MBD NW %33 B nums -2 B¥HONN TBON NR > counts [2]
N1M50 WI%W %33 BAW nums -2 D™BOMT 1BON MR 2’ counts [3)
JIRDR

Halint'hl

.0 79w PR TN oWS W counts (0] -a.1

D972 BY0DR 195% PR Tpon YW Nvbo nara 2

,10 X1 15w 120302 int ©wW0M Mavn DY YW YM0pnn MPNWYR Mo Tvon L3 mw .3
P'D0n counts TWAN 2w 0B T 1PN

a7
DR 179N Mepnen decimalLengths([1,100,9,9,12,20009,78],7,counts) nX™pa
.[0,3,2,1,0,1,0,0,0,0,0,0] :75> counts 7wnn
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int decimallLengths(int nums[], int size,

int counts|[])
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int countLower (char* str):;
) "MIVPR NPMIRTY) lower case NYMIRA D0R PR 7Y ,str AN vhps nvapn mepnon
N3 (a-z

{DIRPAYT

.6 21NN countLower ("Good day") nx™pn
.0 "nn countLower ("GOOD DAY") nR™pn
Jd =m0 countLower ("53 & 4 + 3 Ay Q!") nRmpm
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int countlower (char *str)
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void getMinToStart (int numbers(], int n);

mwn MEPNon (210 %) n %1 DRI oMW 0Mbon YW numbers YR NPapn EpILN

AN JURR 00K AR 90 numbers (0] ,ANE™ N0AY 79 numbers TIWHT MR 770 NN
SNWRYA MR YR BMD0RT IRY YW 1707 .numbers =2 BMDOAN 1Pan

nRpAYT
.[-7,-3,5,-2,1,3,8,9] R »WwOR v%b ,numbers=[-3,5,-2,1,-7,8,9,3] Twnn 1y
.[0,7,9,2,0,1] &1 *wBR 195 ,numbers=[7,9,2,0,0,1] T7wnn May
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void getMinToStart (int numbers(],

int n)

"n




14 7 10 Ty
\N732NR "boR N

(NP3 20) 4 R

JTXPNON DX 1an3

int setDiffSize(int A[], int nl, int B[], int n2);
(@»avn M%) n2-1 nl B3 NRY MW Ddon YW B-1 A 0'90vn U9pD nYapn mspnsi
2R TR MTOR BAIMRK DDA TNR $52 BN *D 1IN .IRRANA
.B =2 D'R¥MI OPRY A -3 DOREMI WK DR DO DR 1A% 1spnen by

MR Quom an 101 9120 RY (900 ,whn 1Y 9703 Dnn uhHRR NRY NN nwa

DIRPNT

2 -1 -6, -5 oMKW 2,3 Mnn setDiffsize ([-6,-5,1,2,7],5, [1,3,7,8], 4) :nx»pn
.B -2 D'RYMI OIR IR A -2 DREM

Smn setDiffsize ([-6,-5,1,2,7],5, [-1,3,4,8,14,18,25], 7):nxpm




:N7ann "bon

int setDiffSize(int A[],

14 nn 11 iy

int nl, int B[],

int n2)
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typedef struct point({

double x; X -1 2vn
double y; Ny -n2am
} Point;

1 (1.4,2.3) Swnb .(00Xn wen D¥91T3) DAPA AW D20 MW R 1WRID Y393 IREN 11IP)
Y372 MREPI RY (12.1,-12.1) =1 (0,0.9) ,(-3.4,4.0) Sar PRI 272 mRgm (0.9,18.0)
WK

IR XPN0N DR 12n2
int* pointsInQuadl (Point* pointsArr, int size, int& resSize);

210 %) size 191 NRY,MMPI Y pointsArr Twn nhapy TEpNON

NREMIN ,pointsArr -2 MNP %o 5w BIBRTIRA NR 22900 TR 1T N8R PEPNDT
VYD VNIDA NIDTVA RPN 1D WD .pointsArr -2 JYDNT 10 DY , PWRIN ¥aMa
Smmn awen Y2 YT Nk resSize

1979M NULL 9D M¥pNon NWRIN 1'272 11K pointsArr -2 mmpin %o ox:aavn
0771 N resSize ubpn "vHTD2

SIRMPR AT

pointsInQuadi ([(0.9,18.0), (0.0,0.9), (-3.4,4.0), (1.4,2.3), (12.1,-12.1)], 5, resSize)
27N DR resSize -2 1D1YM [0, 3] :77vRR DR AN
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int* pointsInQuadl(Point* pointsArr, int size, int& resSize)
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